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What will come in the place of the question mark ‘?’ in the
following question?

L\ljﬂ/ AT T7 7 9 forg 19" oh T UT sR-aT ATTT?
— Question 1- ?=m0 @@X 108 ~ 8
W 57 |- 2 =320 FT80% + 4% + 16 x 108 + 8
2
X=256 + YWx108 A.372
2 20 _B-472
:256+216 C.272
i D.256
LS

E. None of these
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What will come in the place of the question mark °?” in the
following question?

! AEfeTRad T 5 91 g 19" o T 9T /-1 ATT?
S 4
[i 75/]3/ Question 2 45%) of 186 + 162 + 643 = 72 @
4
Lj T 2- 180 FT45% + 162 + 643 =22 + 17x4 - 4
>
X = 8| ‘1‘2/_\ A.25
56
5 T 256~ 64 B.35
L= 53 <8
S E. None of these
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What will come in the place of the question mark ‘?° in the

following question?

AETRad I | T I 2" oh €A U -7 STTTT?
2
Question 3- 40 + 41 X (4}I/I’+/2/I) — 18 x18 =7

= Ho+ 86| —32L
_ATSTT
— O B.277
- 30 C.177
D.677

E. None of these
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What will come in the place of the question mark ‘?’ in the
following question?

AefRad 99 5 99 g 12! o T 9T =T AT

Question 4- (430)+(369)- 60% of 860 + 5 = 72

37 4- 430 + 369 — 800 T 60% + 5 = 22

2
4 ;j?j\ 180 +5 A 12
X7= By B. 13
Y= 13 30 C.17
Rend D.27
(_E-None of these
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30 What will come in the place of the question mark ‘?’ in the

following question?

AefRad 99 5 9 g 12! o T 9 =T AT

Question 5- €0% of 820 + 60% of 490 — 371 = 49 + 2

_ A.126

I‘Hﬁzi‘lﬁﬁf\f)‘éa B. 136

A= 186~ 56 C.336

Y= 2ag D276
— E. None of these

D —
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\\yl(at approximate value should come in place of the

question mark (?) in the following question?

[FTTRET 5 | T3 1@ (?) o T 9L STHT | =1

AT =TRY?

Question 6- 39.97 +(56.96)— 1,;4.01 ‘38947049
= Uo4 577 " A.14
_B-29
= 105-%¢ 30 C. 49
= 29 D.59
- E.32
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What approximate value should come in place of the question

mark (?) in the following question?

[ fCTRET 5 H T2 T=0@ (?) o T 9L STIHT HI sl 3]

e 5t
Question 7- ? x 22.01 =;}4ﬂ+ 9 - 2.8 x301
22X = |37_ 9 A.2
211 - B.3
[2Q 30 e
Jl ,/3‘&’ :\g '
;2» e 1D )

E. None of these
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The given line graph shows the number of article sold by two
person A(green label) and B(sky blue label) from four location.

T T W@ AT 1 ARRAT A (B Teet) 3T B (T ofelel) SR 91

T § Sl 7T g3l shl §EAT I ST 2

150
W<
B/llo\
60 30

2.8

P 0) R S
= Series 1 Series 2 === Columna
https://t.me/mathbytarunsirmepl
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Question 8- Total number of article sold by A in location
R is what percent of number of article sold by B in same
location.

T 8- T R H A g o= 715 TEG3AT hl el HE&AT, B I
I T 9 SI=H TS a3l shl €T 2T foha T Tfeerd 87

1o
90 R \AT62.5%
60— B.12.5%
C.37.5%
D.40.5%
p Q E. None of these

e CUGEE! Series 2 e===(Columni
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30

Question 9- Find the ratio between the number of article
sold by A and B 1n location P and Q.

T4 9- T P AR Q H A 3T B g Sl T3 Sl 3hl €&l

)

7@{7@0; @01_)50) j <%iﬁllt{)°hl AUTd JTd iU

60

R

140
120
100
8o
60
40

20

A.11:9

‘é B.11:8
N
> ) 3; C.8:11

= Serjes 1

D.9:11

R S (ENone of these

Series 2 e===Columni
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@\ 30 Question 10- What 1s the average number of article sold
by A in all location.

T 10- {1 ST 0 A GRSl T3 Sl 3ht STTEd S

/AW@F &%@:QS T R?

A
4
‘& 150
e 110 -
120 90 .
100 /\ 80
80 6ﬁ/ B 45
iz 60 M g €65
i o p D.75
p 0) R S - E. None of these

e CUGEE! Series 2 e===(Columni
https://t.me/mathbytarunsirmepl @
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30 Question 11- If number of article sold by A in T 1s 40% more
than the total number of article sold by A and B in Q. In which
= Ii(oo/,g{(lso B y

(ratio of B and A is 3:4. Then find article sold by B in T.
]g:_ 36 T 11-Fic T H A SR st T &3 sh1 €A1, Q H A B g
o=t 1T el ol et AT § 40% Afereh €1 B 3 A 31 31U
e 3:4 1A T H B R SI=ht T8 &g 1 shifsCy
Tl

bty
| N Zg U 5 23//\ =l B. 156
d | D. 146
¥y Q«E i (E-None of these
=== P 0 R S

= Series 1 Series 2 ====Columna
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Question 12- In each of the following number series, a wrong

number 1s given. Find out that number.

T4 12- HHIRET Jeieh G&AT @ H, Teh TTeld G&AT &1 71 &l 36 &l

AT 9dT SI7I1q| @
A4 449
K33
264831 30 B. 44
C.20
D. 14
E. 26

https://t.me/mathbytarunsirmepl @



Question 13- In each of the following number series, a wrong

number 1s given. Find out that number.

T4 13- FMHTTREd Jeieh G&AT @ H, Teh TTeld G&AT &1 718 &l 36 €&l
AT 9dT SI7I1q|

40, 41, 45, 54, 70

\{/ ; 70+Q5>ﬁi

i )16 - A.41

L2 . Y 5° 30 B. 45
C.54
D.70
—E- 96
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Question 14- In each of the following number series, a wrong

number 1s given. Find out that number.

T 14- HHARIRE Jcieh G&AT @ H, Teh TTeld G&AT &1 71 &l 36 &l

<hl qmwnu
2'%.5,9,17 @65
Y~ <
,7)(0?\ A.2
30 B.3
C.17
‘D32
E. 65

https://t.me/mathbytarunsirmepl @



Question 15- In each of the following number series, a wrong

number 1s given. Find out that number.
T4 15- FMHTREd Jeieh G&AT @ H, Teh TTeld G&AT &1 71 &l 36 &l

AT 9dT SI7I1q|
48,40,32,24, 1q£::j>
k] 6-0-8
A.32
30 B.24
C.16
_DA5
E. 48

https://t.me/mathbytarunsirmepl @



L W Question 16- Water is flowing at the rate of 5 m/sec through a pipe of

diamete into a rectangular tank which 1s 50 cm long, 44 m
4«6”’7/ &uc)
wide. The time taken for the rise in the level of water in the tank to

Y @
\ T 16- 28 TH! =9 oh Weh UTSY o ATIH ¥ 50 GHI o, 44 HieT IS
FATIATHR ooh H UHT 5 Hiey/Eshe shl ST U o8 T 2l ook H U oh Tl | 7
ot hl qf?s\ ERRE TGRS DRI,

/}{ A.200 sec
B. 300 sec

j/ X/g Xt = /50 X%X’O@W C. 400 sec
/f 200 &c. dB-500 sec

.___\

E. None of these
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Question 17- Two men P and Q started a job in which P was twice as
good as Q and therefore took 60 days less than Q to finish the job.

How many days will they take to finish the job, if they start working

@ P Q together?

Efﬁ) T 17- 31 AR P AR Q A Teh S & oAl STEH P, Q € SITHT 1A
4 | T ST SHIATT T ! I L H Q & 60 T& A 1| Afd of Teh |1 hd
T | - ) SCUYEHAE, A IT B G R F foha fo o
- AA40d
S P\) £0o A
| = 6o N |QQ 30 B. 30 days
) ID\ \> D\O C. 20 days
~ 1Ro), D.10 da
: Vs
Pm} Rpr = Hop
% s E. None of these

https://t.me/mathbytarunsirmepl @



https://t.me/mathbytarunsirmepl




Question 18- Pipe A alone can fill a tank 1n 16 hours. Pipe B alone

can fill 1t in 12 hours. If both the pipes are opened and after 4 hours
pipe A 1s closed, then the other pipe will fill the remaining tank in
T4 18- UTST A 3Tehct Teh eh ol 16 HS T X TehaT 2| TTSY B 37ehal 39
12 & T S GehdT 2| AS ST U189 Wit STd & 37 4 52 o o1g UT8T A i
5ig oY e STIAT ©, A1 GOT UTSW 2 bl ohl fehd THT 0 T

3 _
@ —— LQJH@ RO/M 2,&"‘1& A.14 hour

Rt N 360 B.20 hour
3= Lo
L”‘I (Pr ?: St C. 28 hour
‘LB) = <34~L|) XY ey D.30 hour
= 2§ . E-Xone of these
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Question 19- The ratio between two numbers 1s 2 : 3. If each number

1s increased by 8, the ratio between them becomes 5 : 7. The sum of
the the numbers 1s

T 19- A1 H&ATSAT o sfT=l T U 2: 3 Bl i< Tcdeh H&AT I 8 €
ST ST &, Tl 3ok sf1=l shl AT 5: 7 BT ST 8| HEATSAT T AN HT

&7
O B B [= §
2! A.70
4 ’ g/m: (/_Hé)x& 30 B. 50
o F :ﬁg C. 60
,(LI —— Sopll
Sy E. 90

https://t.me/mathbytarunsirmepl @
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Question 20- In an examination, a student must get 44% marks to

pass. A student who gearks failed by 74 marks. The total

marks in that examination 1s
T 20- Teh GOeTT H, Ueh ST ohl 3101 B4 o Te1T 44% 37eh IT9 T 21|
190 3ieh JTH i IATAT Ueh B 74 JHehi § A1 &1 ST 2. 36 G&T H

T 3Heh T 87 )
@ LM‘VC = | 7O+¥L1/ (OOO/G: 264 Yoo A.500
R B-600
Lw/o = ek =Coo C. 700
’76 = 64 - D. 800
LM E. None of these
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Question 21- The average weight of 24 players in a team 1s increased
by 1/3 kg, when one of the player whose weight is 60 kg 1s replaced
by an another player. What 1s the weight of the new player?
T4 21- Uk I | 24 Raerteat & ofted asi & 1/3 T it afg et 2,
STeT 60 fohmiT WK ATet Rt § & Wk shl i faetT<t g Tfareerie fepar
24y g STTdT 2| ¢ Il At S i =T 22

2 W"’W (‘7 gk P/(yﬂﬂ: 6048 A.58 kg
= 6@0%7_ “‘B768 kg

il C.78 kg

D.70 kg

E. None of these
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Question 22- While selling an article, a shopkeeper gives a discount

of 5%. If he gives a discount of 7% , he earns Rs. 30 less as profit.

What 1s the marked price of the article
S 22- T SR ol sl FHE, Teh §HMER 5% ohl D IaT 2l Al I8 7%
! D 41 8, 1 I8 AT o & H 30 FGY HH HATT 2| TE 1 Jifehd 7o

RIT 22
2"’/0':_%3'0
. A.Rs 1000
o/ <
" b= XIS 30 B. Rs 2000
F ,OO%:ls\XIGQ CRs 1500
=[S D.Rs 750

pr— E. None of these
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Question 23- The area of lawn 1s 7040 square metres. If the length 1s
10 percent more than the breadth of the rectangular field. What is the

\
\b‘l///@ length of the field?
T 23- A T A 7040 I HIeT 2| Al TS ATAATRR & hl <SS

g 10 gfaerd ek g1 T hl dielTs -7 82
D IL B L=1/x8

X l0X =d8m A.77 m
1 y*= Joly —30 B.66 m
)ll éLl 88 m
Y g D.55m

E. None of these
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Question 24- The average weight of 15 students 1s 60 kg. If the

weight of teacher 1s also included, then the average weight 1s

increased by 500 grams. Find the weight of the teacher?
T 24- 15 STAT o1 376a g 60 Tohetomy 2| afe f¥retes & o i oft
I TR ST ©, a7 3T IS 500 TTH S STTdT 2| {3187k Rl oIS F1d

HW\L Wk A.78 kg
30 B. 68 kg
C.58 kg
D.48 kg
E. None of these

https://t.me/mathbytarunsirmepl @
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d\‘(\P' Question 25- A person promises to sell his good on the cost price but

\000 he uses 100 gram less weight instead of 1 kg. Find his profit percent.

\\5‘23// T 25- Teh SFi<h YT & 3 hdl Hed UL SI<I okl JTET LA & TR I8
| Tohetl o @lw@ ST 3T SUFT LAl & IHhT AT TTawTd

BIGEIISIY

D o

/ ANV
10 AT111%
Achal (P goo\)r y 30 B.9.09%
()O/G:. l#o Xloo - “ ”aA C.12.5%
4% —  D.13%

E. None of these
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